Base Line Item Detail						Concrete tion Co.	Tilcon New York, Inc		TOPLINE CONSTRUCTION CORP		Joseph M. Sanzari, Inc.	
Item No.	Unit Code	QTY	UNIT	DESCRIPTION	RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT
1	1D01LAY	1	L.S.	Construction Layout	\$10,000.00	\$10,000.00	\$1.00	\$1.00	\$8,925.00	\$8,925.00	\$15,000.00	\$15,000.00
2	1D10MOB	1	L.S.	Mobilization	\$35,000.00	\$35,000.00	\$49,057.83	\$49,057.83	\$75,500.00	\$75,500.00	\$65,000.00	\$65,000.00
3	WEDGG (	1	L.S.	Fuel Price Adjustment (This is a NO BID, Lump Sum item for this contract. The Lump Sum price is \$1,000. Enter a Unit Price of \$1,000 as your bid item for this item.)	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$4,000,00
4	1HFP001	1	L.S.	0, , , , , , , , , , , ,	' '	' '	' '	. ,	' '	' '		\$1,000.00
4	2A02CAG	1	L.S.	Clearing and Grubbing	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$41,000.00	\$41,000.00	\$20,000.00	\$20,000.00
5	2B02REX	260	C.Y.	Roadway Excavation, Earth	\$40.00	\$10,400.00	\$34.00	\$8,840.00	\$45.00	\$11,700.00	\$40.00	\$10,400.00
6	2B15STS	240	C.Y.	Stripping Topsoil	\$1.00	\$240.00	\$25.00	\$6,000.00	\$12.55	\$3,012.00	\$13.00	\$3,120.00
7	2C01EMB	304	C.Y.	Embankment, Common	\$1.00	\$304.00	\$45.00	\$13,680.00	\$36.25	\$11,020.00	\$9.00	\$2,736.00
8	2H00015	112	S.F.	Inlet Filter, Type 1	\$1.00	\$112.00	\$30.00	\$3,360.00	\$6.25	\$700.00	\$7.00	\$784.00
9	2H30TEC	580	L.F.	Silt Fence	\$3.00	\$1,740.00	\$3.00	\$1,740.00	\$3.90	\$2,262.00	\$7.00	\$4,060.00
10	3A08ABC	821	S.Y.	Aggregate Base Course, 8" Thick	\$10.00	\$8,210.00	\$9.00	\$7,389.00	\$17.00	\$13,957.00	\$9.00	\$7,389.00
11	3B21SUP	425	Ton	Superpave Hot Mix Asphalt 25H 64 Base Course	\$75.00	\$31,875.00	\$70.00	\$29,750.00	\$104.15	\$44,263.75	\$125.00	\$53,125.00
12	3B25SUP	300	Ton	Superpave Hot Mix Asphalt 12.5H 76 Surface Course	\$90.00	\$27,000.00	\$85.00	\$25,500.00	\$110.30	\$33,090.00	\$120.00	\$36,000.00
13	3B33SUP	25	Ton	Superpave Hot Mix Asphalt 19H 64 Intermediate Course	\$75.00	\$1,875.00	\$90.00	\$2,250.00	\$110.30	\$2,757.50	\$140.00	\$3,500.00
14	3E50PMR	1,320.00	S.Y.	Surface Milling, 2" Average Depth	\$8.00	\$10,560.00	\$8.00	\$10,560.00	\$8.25	\$10,890.00	\$10.00	\$13,200.00
15	5A08PUD	261	L.F.	8" Pipe Underdrain	\$40.00	\$10,440.00	\$28.00	\$7,308.00	\$25.80	\$6,733.80	\$35.00	\$9,135.00
16	5B15RC3	17	L.F.	15" Reinforced Concrete Pipe	\$100.00	\$1,700.00	\$105.00	\$1,785.00	\$106.90	\$1,817.30	\$97.00	\$1,649.00
17	5C01ND2	1	Each	Inlet, Type D2	\$2,500.00	\$2,500.00	\$2,700.00	\$2,700.00	\$3,575.00	\$3,575.00	\$2,910.00	\$2,910.00
18	5C10INT	1	Each	Inlet Converted to Manhole	\$2,000.00	\$2,000.00	\$1,800.00	\$1,800.00	\$2,100.00	\$2,100.00	\$1,625.00	\$1,625.00

Base Line Item Detail					New Prince Construc		Tilcon New York, Inc		TOPLINE CONSTRUCTION CORP		Joseph M. Sanzari, Inc.	
Item No.	Unit Code	QTY	UNIT	DESCRIPTION	RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT
19	5C40RSF	1	Each	Reset Frame	\$500.00	\$500.00	\$230.00	\$230.00	\$475.00	\$475.00	\$485.00	\$485.00
20	5F01VCA	210	L.F.	Concrete Curb, Type A	\$30.00	\$6,300.00	\$23.00	\$4,830.00	\$38.65	\$8,116.50	\$30.00	\$6,300.00
21	5I01SNP	90	S.F.	Sign Panels	\$45.00	\$4,050.00	\$32.00	\$2,880.00	\$31.50	\$2,835.00	\$34.00	\$3,060.00
22	5I05SPP	27	L.F.	U-channel Post	\$10.00	\$270.00	\$25.00	\$675.00	\$26.25	\$708.75	\$5.70	\$153.90
23	N5I0002	75	L.F.	Timber Posts	\$10.00	\$750.00	\$34.00	\$2,550.00	\$35.70	\$2,677.50	\$8.00	\$600.00
24	5N04PCS	75	S.Y.	Concrete Sidewalk, 4" Thick	\$65.00	\$4,875.00	\$66.00	\$4,950.00	\$80.90	\$6,067.50	\$48.00	\$3,600.00
25	5N00003	84	S.Y.	Detectable Warning Surface	\$0.01	\$0.84	\$290.00	\$24,360.00	\$170.00	\$14,280.00	\$210.00	\$17,640.00
26	5P10TMP	1,725.00	L.F.	Temporary Pavement Striping	\$0.50	\$862.50	\$0.50	\$862.50	\$0.52	\$897.00	\$0.30	\$517.50
27	5P30LLM	100	L.F.	Traffic Markings, Lines, long - Life, Epoxy Resin	\$2.00	\$200.00	\$15.00	\$1,500.00	\$15.75	\$1,575.00	\$9.00	\$900.00
28	5P31LLM	2,480.00	L.F.	Traffic Markings, Lines, Long - Life, Thermoplastic	\$1.00	\$2,480.00	\$0.90	\$2,232.00	\$0.95	\$2,356.00	\$1.00	\$2,480.00
29	5P33LLM	310	S.F.	Traffic Markings, Symbols, Long - Life, Thermoplastic	\$6.00	\$1,860.00	\$5.00	\$1,550.00	\$5.25	\$1,627.50	\$5.00	\$1,550.00
30	5P14TMP	1,150.00	L.F.	Removable Wet Weather Pavement Marking Tape	\$2.00	\$2,300.00	\$1.85	\$2,127.50	\$1.95	\$2,242.50	\$2.00	\$2,300.00
31	5Q20FOE	1	L.S.	Furnish Field Office Equipment	\$3,500.00	\$3,500.00	\$18,000.00	\$18,000.00	\$21,150.00	\$21,150.00	\$10,000.00	\$10,000.00
32	6A00103	5	Unit	Foundation, Type ECS-Std	\$1,750.00	\$8,750.00	\$2,250.00	\$11,250.00	\$2,265.00	\$11,325.00	\$1,995.00	\$9,975.00
33	6A02RMU	40	L.F.	2" Rigid Metallic Conduit, Underground	\$28.00	\$1,120.00	\$30.00	\$1,200.00	\$30.00	\$1,200.00	\$31.00	\$1,240.00
34	6A03RMU	570	L.F.	3" Rigid Metallic Conduit, Underground	\$33.00	\$18,810.00	\$37.00	\$21,090.00	\$37.00	\$21,090.00	\$37.00	\$21,090.00
35	6A03RNC	4,160.00	L.F.	3" Rigid Nonmetallic Conduit, PVC-(Schedule 40)	\$15.00	\$62,400.00	\$13.40	\$55,744.00	\$13.50	\$56,160.00	\$17.00	\$70,720.00
36	6A13RNC	50	L.F.	3" Rigid Nonmetallic Conduit, PVC-(Schedule 80)	\$33.00	\$1,650.00	\$34.00	\$1,700.00	\$34.00	\$1,700.00	\$3.00	\$150.00
37	6A02MLC	13,880.00	L.F.	#2 A.W.G. Multiple Lighting Cable	\$5.00	\$69,400.00	\$3.00	\$41,640.00	\$3.10	\$43,028.00	\$6.00	\$83,280.00

Base Line Item Detail					New Prince Construc		Tilcon New York, Inc		TOPLINE CONSTRUCTION CORP		Joseph M. Sanzari, Inc.	
Item No.	Unit Code	QTY	UNIT	DESCRIPTION	RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT
38	6A06SVC	180	L.F.	#6 A.W.G. Service Cable (600V)	\$4.00	\$720.00	\$2.90	\$522.00	\$3.00	\$540.00	\$5.00	\$900.00
39	6A08GWR	2,950.00	L.F.	#8 A.W.G. Ground Wire	\$1.50	\$4,425.00	\$2.80	\$8,260.00	\$2.85	\$8,407.50	\$2.00	\$5,900.00
40	6A24JBC	3	Each	Junction Box, Type C	\$2,800.00	\$8,400.00	\$2,600.00	\$7,800.00	\$2,700.00	\$8,100.00	\$3,000.00	\$9,000.00
41	6A21JF1	11	Each	Junction Box Foundation, Type 1	\$3,000.00	\$33,000.00	\$4,050.00	\$44,550.00	\$4,065.00	\$44,715.00	\$3,100.00	\$34,100.00
42	6A00119	1	Each	Foundation, Type P-MC	\$2,400.00	\$2,400.00	\$2,500.00	\$2,500.00	\$2,500.00	\$2,500.00	\$2,600.00	\$2,600.00
43	6A00118	6	Each	18" x 36" Junction Boxes	\$1,850.00	\$11,100.00	\$1,650.00	\$9,900.00	\$1,675.00	\$10,050.00	\$2,100.00	\$12,600.00
44	6A00031	1	L.S.	Modifications to Existing Electrical Facilities	\$7,500.00	\$7,500.00	\$3,300.00	\$3,300.00	\$3,325.00	\$3,325.00	\$8,000.00	\$8,000.00
45	6B26LMG	4	Each	Lighting Standard, Type L- MG-26	\$1,900.00	\$7,600.00	\$1,770.00	\$7,080.00	\$1,770.00	\$7,080.00	\$2,100.00	\$8,400.00
46	6B45LMG	7	Each	Lighting Standard, Type L-MG-40	\$2,500.00	\$17,500.00	\$2,390.00	\$16,730.00	\$2,400.00	\$16,800.00	\$2,700.00	\$18,900.00
47	6B00048	4	Each	Type P2 Luminaire, 100W	\$1,500.00	\$6,000.00	\$1,280.00	\$5,120.00	\$1,290.00	\$5,160.00	\$1,600.00	\$6,400.00
48	6B25TP2	5	Each	Type P2 Luminaire, 250W	\$1,500.00	\$7,500.00	\$1,400.00	\$7,000.00	\$1,410.00	\$7,050.00	\$1,600.00	\$8,000.00
49	6B25TP3	2	Each	Type P3 Luminaire, 250W	\$1,500.00	\$3,000.00	\$1,355.00	\$2,710.00	\$1,355.00	\$2,710.00	\$1,600.00	\$3,200.00
50	N6B0007	1	L.S.	Underbridge Lighting Installation, Str. No. 1	\$14,500.00	\$14,500.00	\$35,135.00	\$35,135.00	\$35,135.00	\$35,135.00	\$16,000.00	\$16,000.00
51	6A00121	1	Each	Controller, 8 Phase	\$23,000.00	\$23,000.00	\$19,890.00	\$19,890.00	\$18,590.00	\$18,590.00	\$25,000.00	\$25,000.00
52	6H00TSA	2	Unit	Traffic Signal Assemblies, Type ECS-6.1MA-2	\$4,000.00	\$8,000.00	\$3,470.00	\$6,940.00	\$3,470.00	\$6,940.00	\$4,200.00	\$8,400.00
53	6H01TSA	1	Unit	Traffic Signal Assemblies, Type ECS-7.6Ma-1	\$3,500.00	\$3,500.00	\$2,950.00	\$2,950.00	\$2,950.00	\$2,950.00	\$3,600.00	\$3,600.00
54	6H02TSA	3	Unit	Traffic Signal Assemblies, Type MM-1	\$1,300.00	\$3,900.00	\$1,300.00	\$3,900.00	\$1,300.00	\$3,900.00	\$1,400.00	\$4,200.00
55	6H00TSS	2	Unit	Traffic Signal Standards, Type ECS-8 X 0.24	\$2,500.00	\$5,000.00	\$2,310.00	\$4,620.00	\$2,310.00	\$4,620.00	\$2,600.00	\$5,200.00
56	6H01TSS	3	Unit	Traffic Signal Standards, Type ECS-10 X 0.24	\$3,500.00	\$10,500.00	\$3,455.00	\$10,365.00	\$3,455.00	\$10,365.00	\$3,600.00	\$10,800.00
57	6H03TSA	6	Unit	Pedestrian Signal Assemblies, Type W-1	\$1,200.00	\$7,200.00	\$995.00	\$5,970.00	\$995.00	\$5,970.00	\$1,300.00	\$7,800.00

Base Line Item Detail					New Prince Construc		Tilcon New York, Inc		TOPLINE CONSTRUCTION CORP		Joseph M. Sanzari, Inc.	
Item No.	Unit Code	QTY	UNIT	DESCRIPTION	RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT
58	6A00120	1	Each	Meter Cabinet, Type T	\$2,500.00	\$2,500.00	\$1,525.00	\$1,525.00	\$1,525.00	\$1,525.00	\$2,600.00	\$2,600.00
59	6A00122	1	Each	Controller Turn-On	\$2,500.00	\$2,500.00	\$3,125.00	\$3,125.00	\$3,125.00	\$3,125.00	\$2,600.00	\$2,600.00
60	6H20PBA	4	Unit	Push Button Assemblies	\$350.00	\$1,400.00	\$510.00	\$2,040.00	\$510.00	\$2,040.00	\$360.00	\$1,440.00
61	6H02TSC	360	L.F.	Traffic Signal Cable, 2 Conductor	\$3.00	\$1,080.00	\$2.15	\$774.00	\$2.15	\$774.00	\$2.50	\$900.00
62	6H05TSC	470	L.F.	Traffic Signal Cable, 5 Conductor	\$3.00	\$1,410.00	\$2.45	\$1,151.50	\$2.45	\$1,151.50	\$3.00	\$1,410.00
63	6H10TSC	730	L.F.	Traffic Signal Cable, 10 Conductor	\$3.25	\$2,372.50	\$2.80	\$2,044.00	\$2.80	\$2,044.00	\$3.50	\$2,555.00
64	6H00006	2	Each	Image Detector	\$6,000.00	\$12,000.00	\$5,355.00	\$10,710.00	\$5,355.00	\$10,710.00	\$6,840.00	\$13,680.00
65	7C01TOP	1,471.00	S.Y.	Topsoil	\$4.00	\$5,884.00	\$4.00	\$5,884.00	\$11.40	\$16,769.40	\$3.00	\$4,413.00
66	7D01SED	1,051.00	S.Y.	Seeding, Type A	\$1.00	\$1,051.00	\$1.00	\$1,051.00	\$0.60	\$630.60	\$1.00	\$1,051.00
67	7D08SED	490	S.Y.	Seeding, Type L	\$1.00	\$490.00	\$1.00	\$490.00	\$0.60	\$294.00	\$1.00	\$490.00
68	7F01SSM	490	S.Y.	Soil Stablization Matting	\$6.00	\$2,940.00	\$4.50	\$2,205.00	\$4.70	\$2,303.00	\$2.00	\$980.00
69	8B24MPT	1	L.S.	Furnishing Traffic Protection Devices	\$5,000.00	\$5,000.00	\$15,000.00	\$15,000.00	\$101,750.00	\$101,750.00	\$107,500.00	\$107,500.00
70	8B25MPT	2	Each	Furnish Variable Message Sign	\$5,000.00	\$10,000.00	\$10,000.00	\$20,000.00	\$3,800.00	\$7,600.00	\$5,700.00	\$11,400.00
71	8A26MPT	1	L.S.	Police Traffic Directors (This is a NO-BID, Lump Sum item for this contract. The Lump Sum price is \$10,000. Enter a Unit Price of \$10,000 as your bid for this item.)	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00
73	8C100MLR	1	L.S.	Maintenance and Protection of Traffic on Local Roads	\$50,000.00	\$50,000.00	\$20,000.00	\$20,000.00	\$6,750.00	\$6,750.00	\$9,405.00	\$9,405.00
	Base Total					\$648,406.84		\$683,333.33		\$846,188.60		\$856,098.40